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Equilibrium: 0     0     0 

y y z z

x y z

R F R F

F F F

   

     

 

 
CHAPTER 3 

 x x

;   ;

         

       

F =      cos = P Q +P Q P Q

x z y y x z

z y x

o B

x y z x y z

x y z x y z

oL BL

x y z x y z

OLOL y y z z

M y F z F M z F x F

M x F y F

i j k i j k

M x y z M x y z

F F F F F F

M x y z M x y z

F F F F F F

F PQ

     

 

       

   

    

    



     
 




 

CHAPTER 4 

Equilibrium:   0     0F M   
 

 

 
CHAPTER 5 

    

Pappus-Guldinus: 2      2
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CHAPTER 6 
Method of joints,  Method of sections 
 
CHAPTER 7 

;      ;    ;      M=V

Positive shear: Clockwise rotation

Positive moment: Holds water or happy face
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CHAPTER 8 
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Where  are measured from the normal.
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